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UGC NET 2019

Application No 190510124647
Roll No GJ07500560
Participant Name VISHAL PURI GOSWAMI
Test Time 2:30 PM - 5:30 PM
Test Date 20/06/2019
Subject 59 Library and Information Science
Section : PART | General Aptitude
Q1 Tertiary source of data is
(1)  Films, hoardings and posters
(2) Government gazette, newspapers and magazines
(3 Information derived from both primarv and secondary sources
4 Data collected from policy papers
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011925
Option 1 ID : 64635046931
Option 2 ID : 64635046932
Option 3 ID : 64635046933
Option 4 ID : 64635046934
Status : Answered
Chosen Option : 3
Q.2 Which of the following is the key behaviour contributing to effective teaching?
{1)  Summarising what was told by a student
(2) Enecouraging students to elaborate on an answer
(3) Using direct and indirect questioning
4) Explaining concepts in a logical step by step presentation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011918
Option 1 ID : 64635046903
Option 2 ID : 64635046904
Option 3 ID : 64635046905
Option 4 ID : 64635046906
Status : Answered
Chosen Option : 4
Q.3
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A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

(3) A strategy of evaluating data

{4 A tentative statement providing an explanation
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011924
Option 1 ID : 64635046927
Option 2 ID : 64635046928
Option 3 ID : 64635046929
Option 4 ID : 64635046930
Status : Answered
Chosen Option : 4
Q4 Which type of evaluation focusses on the identification of deficiencies and difficulties of the
learnexr?
(1) Summative evaluation
(2) Follow up evaluation
3 Diagnostic evaluation
) Criterion — referenced evaluation
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011921
Option 1 ID : 64635046915
Option 2 ID : 64635046916
Option 3 ID : 64635046917
Option 4 ID : 64635046918
Status : Answered
Chosen Option : 4
Q.5 Position papers are
(1)  Compiling of academic articles
(2) Providing review articles
(3 Offering a svnopsis of an extended research
(4) Highlighting of izsues and depiction of status
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011922
Option 1 ID : 64635046919
Option 2 ID : 64635046920
Option 3 ID : 64635046921
Option 4 ID : 64635046922
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Status : Answered
Chosen Option : 4

Q8 i o & T T # R F TR T A o @ W I AR
(i) TSR FeA W W wE e
(ii) = TE | TEIEE W@ WY 9= S a
(iii) =afFE % T T TR @ W & AU W HEE T R
(iv) ra AiwE = WUEN T SieaHr e
(v) e Rrer =1 swm s v o ¥ e o F s =
FL
(1 ), i) ) (@ (), () = (i)
(3 (), ) # () 4 (i), (i) ¥ (v)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011926
Option 1 ID : 64635046935
Option 2 ID : 64635046936
Option 3 ID : 64635046937
Option 4 ID : 64635046938

Status : Answered

Chosen Option : 2

Q7 oufy s () £
(1) it 7 geeaied) 5 fFg T8 Jorm
(2) T (meEwe) werd wen wER wEia R @ T wem
(3) T oefrs-rdfes Sif = foff
(4 e w wEeT % 4 A Rl
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011923
Option 1 ID : 64635046923
Option 2 ID : 64635046924
Option 3 ID : 64635046925
Option 4 ID : 64635046926

Status : Answered

Chosen Option : 2

QA8 e o % e § e Wi W S W T A R T

(1) wew g (2) el AT
(@) I A (4) AgrE
Options 1. 1
2.2
3.3
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4.4
Question Type : MCQ
Question ID : 64635011919
Option 1 ID : 64635046907
Option 2 ID : 64635046908
Option 3 ID : 64635046909
Option 4 ID : 64635046910
Status : Answered
Chosen Option : 2
R R R HAfrT ofoTs 1 = 2
(1) 7o = FFEE w A
(2) Fre A - = st
(3)  smuTna Al W s
@)  wfiorm @ e = airE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011917
Option 1 ID : 64635046899
Option 2 ID : 64635046900
Option 3 ID : 64635046901
Option 4 ID : 64635046902
Status : Answered
Chosen Option : 3
Q10 {What are the elements of evaluation plan?
{a) Purpose
(k)  Resources
() Analysis
() Authority
Select the correct answer from the options given below:
(1) (a) and () (2) (b)enly
@ (), (c)and(d) 4  (a), (b) and (¢)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011920
Option 1 ID : 64635046911
Option 2 ID : 64635046912
Option 3 ID : 64635046913
Option 4 ID : 64635046914
Status : Answered
Chosen Option : 4
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Pt main =t o o we= & = 4w

e F T Adm E e a s f g d el f s S fm a4
Al # TR Fam T W FE R 9 R o1 SR A e aEd e e
e Toe @ Fr T = wn G o s e, = stara g Gl ae & e i
wE | T e ot swwies o e w awfn @ F o Sewes o S oS T
TEA W T S o A T | w9 e * e f, ww e g
e o 5 & ovam = 27 | wfm =nm & w S woE w S A o s A o e g
T 27 T, TE T [ S ST F W W S % ST 36 AhE % w9 G ged #
T T % WA A S T Y Tl § W T S el s St e A g e
zfrm 1 firsrefen = Fam dm-m oen =y o ) o fagrn & weifte gE s e
it Wi A | =% FgEn 9w % G w1 aga, wen g SRR 1, e 3 www-"
sen & wrer =t awn T e = w gt ol o wr ween wews e v sl
gt 3 2 foren 2 i Sifsm 5 g S A A v g0 o=l oW R TR T wam o e
# £ men T s TN 5 e S g T | S 6 e+ A § 5w 5em #

SubQuestion No : 11

AN o mim § e gt fem T 32
(1) v & wdH=
(2) == i sl =
(3) Hiem & "Elaw geEae % e
@) T i FoRe
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635011932
64635046955
64635046956
64635046957
64635046958
Answered

1

Q.12
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Comprehension:
et weria =i ofed o v 5 = 4

1970 % =%  difen #= Fom a4 s of @ wofaq =i 3 oferfs of G 950 e
i H TR AR AT W F F R ¥ 9E ) SR w s el e § e v
A TE W1 T T T T T w9 S i we % S 1
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SubQuestion No : 12
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T Hfie & AN s H§ guw

(1 =R (2) =i =m 2
(3 i 2 (4) whmea 3

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011931
Option 1 ID : 64635046951
Option 2 ID : 64635046952
Option 3 ID : 64635046953
Option 4 ID : 64635046954

Status : Answered

Chosen Option : 4

Comprehension:
Frafafan T =t v =h wm F T AR

1970 % Tr= A At =t Frw a ° wiend o o woteg = | oieds f s o e @ 9
Hfezi & wRT fom e W FE 9 T 4 a9y o1 SR wmem e aeh R @ e
e e o wpe o =0 o = oft T =, W s et men % e 1
o | T T Tt Tetee v e w oannfm @ S TEwes wom S T TEn
Aty w6 ST A A SE @S w9 3 e & e e § W am s e g
ot T T & ovdn = #731| =fem =1vm & = S WEE F S @ S E At o fEed o
T 7 W, TE T T i S F o AT It F ST 39 AhE % 59 F 2ed #
T ETAT F A A M § Al R T T S UEE A 5 T g o e
=zt i wfirsrnten =1 Sow dig-m ven w9 Ot {) o fagrn § withs g e it
et i A #) 5% ogEn @ wn fa faard 1 g, wwn go s A, e .
FE0 & 1% el = o Tt w1 w gae Pl oo wemn s s wE i
g 3 2 o 2 5 Sifsa § gun 97 O avg wE g0 o= O # R T A i s
£ £ man o amimrEn: T W T W g w f | S Hiem € wmeem % an A 5 sem i)

SubQuestion No : 13

A o i e & wfrs St T A

(1) =eroes s 2 =gmEn
(3 difEm = weriEm (4) Tt

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011930
Option 1 ID : 64635046947
Option 2 ID : 64635046948
Option 3 ID : 64635046949
Option 4 ID : 64635046950

Status : Answered

Chosen Option : 1

Comprehension:

https://cdn3.digialm.com//per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083019123/208301912352D1298/15614707818972919/GJ0...  6/76



6/29/2019

Q.14
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Pt main =t o o we= & = 4w
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SubQuestion No : 14

TR = W e

(1) amofee S
(2) e Fraffm el = eemm
(3 == =

(4 fafia from maw wem w1

Options 1. 1

2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
64635011929
64635046943
64635046944
64635046945
64635046946
Answered

2

Q.15
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Comprehension:
Frafafa T =t v sh wm F T A
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SubQuestion No : 15
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OFH TR % FTH R w1 T ST o ?
(1) =ifem fawen 5 =am (2) =tas THEaE
(3) =W e E 5 &)  ToRd
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011928
Option 1 ID : 64635046939
Option 2 ID : 64635046940
Option 3 ID : 64635046941
Option 4 ID : 64635046942
Status : Answered
Chosen Option : 2
Q.16 Connotative communication inside the elaseroom is
(1 Direct (2) Critical
(3) Implicit (4) Explicit
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011937
Option 1 ID : 64635046975
Option 2 ID : 64635046976
Option 3 ID : 64635046977
Option 4 ID : 64635046978
Status : Answered
Chosen Option : 4
Q17 53 4 e e e # famd e fd st e 1 oneme Al & oo & s fred
Tt w1 T £7
T A () = fafa w4 #)
(i) 71 %= a4
T - (a) =t Fﬂ'%!ﬂ RE] ﬁl
(b) Fo T fagh #i
(o) =t =4 fordi &
(d) = T T A R
Ji feu T fEweT 5 O o6 I w1 9ee Sy
1 W), A @ =@
(3 (@ @ (b))
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
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Question ID : 64635011944
Option 1 ID : 64635047003
Option 2 ID : 64635047004
Option 3 ID : 64635047005
Option 4 ID : 64635047006
Status : Answered
Chosen Option : 3
Q18 Choose the mizsing term out of the given alternatives : QPO, NML, EJI, ;
(1) HGF {2) CAB
3  JEL 4) GHI
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011938
Option 1 ID : 64635046979
Option 2 ID : 64635046980
Option 3 ID : 64635046981
Option 4 ID : 64635046982
Status : Answered
Chosen Option : 1
Q19 The sum of all even natural numbers between 1 and 81 is
(1) 3280 (# 3321
(3) 1648 (4 1640
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011939
Option 1 ID : 64635046983
Option 2 ID : 64635046984
Option 3 ID : 64635046985
Option 4 ID : 64635046986
Status : Answered
Chosen Option : 4
Q20 i dreft 5 5 %9, 10 %3 o 25 48 % Tk 3:2: 1 sFEEE | A T feret v 60 T E, W
= 54 & femfims €0
(Iy 100 2) 200
(3 300 4 400
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011940
Option 1 ID : 64635046987
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Option 2 ID : 64635046988
Option 3 ID : 64635046989
Option 4 ID : 64635046990
Status : Answered
Chosen Option : 4

Q21 fime (A) - Hifsm & A i | T % At T gy T A A
7 (R) : Hifem & €3 aren A= 9HiEs TeeEe F T o 2 3 aeme e #
A4 firy e & W T PR
O @R @) T R R), Q) F T e}
@ (A R) I =8 §, A R), (&) F w2

(3 (A) = R, R R mem R
4)  (A)Tem ?, 9 (R) w6 2

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011933
Option 1 ID : 64635046959
Option 2 ID : 64635046960
Option 3 ID : 64635046961
Option 4 ID : 64635046962
Status : Answered
Chosen Option : 1
Q.22 o iy -
A T T2 W F frtan | | e T % w17
(@ wFwwwil
b o7 i

() Fo ¥l == -3 = {)
(d) W= wAT R

% fam o frredi © © 8 T W T T
(1 (&), (), () H (d)

(2 (BFE)

(3  F=(a)

@ (@3

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011947
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Option 1 ID : 64635047015
Option 2 ID : 64635047016
Option 3 ID : 64635047017
Option 4 ID : 64635047018
Status : Answered
Chosen Option : 2
Q23 o 7 wima 1 frm P 1 g =0 @ fafre & a9 oin o T @ e # st TR W
% fam = 2
() s faf
@ T faty
(3 i fafy
4 A i
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011945
Option 1 ID : 64635047007
Option 2 ID : 64635047008
Option 3 ID : 64635047009
Option 4 ID : 64635047010
Status : Answered
Chosen Option : 4
Q.24 3
Fyfafian 7% aa 9 7 &1 7= # waE S5
T Toredll T2 Tr==n A v, TN F 9w S T A 2
(1) =T () Forre=
(3 A= 4) T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011946
Option 1 ID : 64635047011
Option 2 ID : 64635047012
Option 3 ID : 64635047013
Option 4 ID : 64635047014
Status : Answered
Chosen Option : 2
Q.25
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In the communication process, signs derive meanings through
{1}  The subjectivity of various components

{2)  The objectivity of the decoder

(3} The network of inter-relations

(4) The neutrality of the channel

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011935
Option 1 ID : 64635046967
Option 2 ID : 64635046968
Option 3 ID : 64635046969
Option 4 ID : 64635046970
Status : Answered
Chosen Option : 2
Q.26

Communication through colours can rezult in
{a) Aesthetic codes

(b) Cultural codes

{e) Semantic codes

(d) Binarv codes

Chooze the correet answer from the options given below:

(1) (a) and (d) (2 (b) and (c)
(@  (b)and (d) (4 (a)and (b)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011934
Option 1 ID : 64635046963
Option 2 ID : 64635046964
Option 3 ID : 64635046965
Option 4 ID : 64635046966

Status : Answered

Chosen Option : 2

Q27 oy ok o 5750 o TN E F o A A FrrRET onuR A & & s T g

(1) =gy ohadami 2 =hmhami
@ TowHmEmi 4 FIoEEA T Em R

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011943
Option 1 ID : 64635046999
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Option 2 ID : 64635047000
Option 3 ID : 64635047001
Option 4 ID : 64635047002
Status : Answered
Chosen Option : 4

Q28 o ¢ 10,000 7% F fd § s = o 10% 7o TR ot i T PRl S o S 5% B
A FHAA FEH F ARG A W FEE H 2 75,000 wEE w0 3 R 9 e aeofn wm g

(Il % 78,000 (2 80,000
(3 85000 {4) 80,000

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011941
Option 1 ID : 64635046991
Option 2 ID : 64635046992
Option 3 ID : 64635046993
Option 4 ID : 64635046994

Status : Answered

Chosen Option : 2

Q.29 forelt wfan o 4% =hs 1 S o 3 &Y 51 oane s ¥ 2000 & weoin 2iow 10% ais S w2
o4 ¥ TG TR T R WAW we | T T e i em e

(L T 8,750 {2 1750
(3) T 2,500 4) 3500
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011942
Option 1 ID : 64635046995
Option 2 ID : 64635046996
Option 3 ID : 64635046997
Option 4 ID : 64635046998

Status : Answered

Chosen Option : 2

Q.30 Language of communication also constitutes

(1)  The random world {2) The social world
{3  The divine world {4) The unsanctified world

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011936
Option 1 ID : 64635046971
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Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 64635046972
: 64635046973
: 64635046974
: Answered

1

Comprehension:

Frafafan = wiemma (1 o 1) = fem =1 faad wim, 2018 & o=, 2018 °% & e oAl &
T T TEEEE G A T AT 1 we = g G (% F5) i T d w6, . e
= 2mfl % dv9 aive HP (H) ot oivz DELL (D) % %9 7o dvfa 1 Sen & 4= ogom = 4
zmtan W }1 W T WA % 2 T 45000 vz A fl gf w9 o T A
fim o, e = ww )

1. ¥ = s fl | | D0 S A = s
g T || | w A |
i 17 H|D
=i 22 April 87
- 25 May 4[5
i 8 June 3|2
AT 12 July T4
Ferran 16 August 7|8
September 719

SubQuestion No : 31
Q3 of s & A = P A D % g fend At 39 T

(1) 9500 {2y 10000
(3 10500 (4) 15000
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635011953
64635047035
64635047036
64635047037
64635047038
Answered

3

Comprehension:
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fim o Wl = = A

ffafas = wifemmat (1 et 1) w faem &1 fad antm, 2018 & faden, 2018 7% & o oAl &
T T TEEEE §U A T AT 1 we = g G (% H) wmm T dwe f, . e
=6 amfl % dhv9 ive HP (H) »ft oivz DELL (D) % 39 7o #vfa 1 Sem & 9= wgom = 4
zaten T ) T S % 2R T 45000 Fwefy # el ) miv [k T s e =

1. #refs = s fah 11 Frefy wfvel =1 s
g T | E | | w A | e
i 17 H|D
=i 22 April 817
= 25 May 45
o 8 June 3|2
AT 12 July T4
o 16 August 718
September 719

SubQuestion No : 32

¥ N R?

(I 119:145
3 119:135
Options 1. 1

2.2

3.3

4.4

Q32 it & 2 wive D 3 39 T A 6 S o 9 A 3 R o § 48 T A sen

@ 116:135
4 119:130

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

McQ
64635011949
64635047019
64635047020
64635047021
64635047022
Answered

3

Comprehension:

fiom o w = = 2

ffetian o wiemma (I et 1) w fomm =1 fom onltm, 2018 & fadan, 2018 7% & 2% wdFl &
20 T R G e TG ST s w wiemen e (% 5) gt wen ) wme f, 56 g
= el & 2 wive HP (H) o #vz DELL (D) % 29 o oiwefs & @em & 9= ogem 5 6
Tt T 1 T T % 3 T 45000 Fwefa ) bt g mivw AR W e = e =

1. ¥ = = fsf | | 10 #ef afve =1 e
oA || | m | s
L 17 H|D
=i 22 April 817
e 2% May 4|5
et 8 June A
T 12 July 7|58
Terra 16 August 7|8
September 719

SubQuestion No : 33
Q.33
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% 37 % S A H % ST 35% % e (o) mss mai s R s s as H =

far Py fon frorme 3 59 mee
(1 282 (2 1635
(3 1638 4 885
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011950
Option 1 ID : 64635047023
Option 2 ID : 64635047024
Option 3 ID : 64635047025
Option 4 ID : 64635047026
Status : Answered
Chosen Option : 2
Comprehension:
frafafan & miemma (1 o 1) & femm w3 fomsd ondm, 2018 9 fiman, 2018 7 % 22 764 &
T T TEEEE FU A T ST s = g G (% H) wme T dwe f, . a7
= el & 2 avs HP (H) o vz DELL (D) % 29 7o oiwefs & @en & 9= oo 5
e T} W T W % 4 T 45000 Fvety 1 fait ) mive [ o I o e S
fom o e = e E)
L. #efe 1 wfmmm feft | | 10 deei afve =1 e
g T || | w A |
i 17 H D
=i 22 April 8 |7
- 25 May 4[5
Wﬁ"’s 8 June 3|2
T 12 July 7|8
ﬁm 16 August. T &
September 7|9
SubQuestion No : 34
Q.34 afs gEreR F TEr F 2 A D F T S # e W T 434 = e g o S e F A
™ ATz F v w IR 3w o e e
()  16,51,800 (2) % 6,46,500
(3 ¥ 6,49,500 (4 651,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011951
Option 1 ID : 64635047027
Option 2 ID : 64635047028
Option 3 ID : 64635047029
Option 4 ID : 64635047030
Status : Answered
Chosen Option : 3
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Comprehension:

Consider the following two tables (I and II) that show the percentage wise distribution (%o) of
the number of laptops zold by a shopkeeper during a period of zix months from April to
September 2018 and the ratio between the number of laptops sold of brand HP (H) and
brand DELL (D) during the same six months. A total of 453000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

1. Sale of laptops Month wise I1. Laptops Brand Ratio
Name of Month | % of Laptops | | Name of Month | Ratio
April 17 H
May 232 April 8|7
June 25 May 4|5
July 8 June 3|2
August 12 July 7|8
September 18 August 718
September 7|9

SubQuestion No : 35

Q.35 The number of laptops sold of brand H during April is approximately what percent of the
number of laptops =old of brand H during September?
(1) 110 () 140
3 130 @ 150
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011952
Option 1 ID : 64635047031
Option 2 ID : 64635047032
Option 3 ID : 64635047033
Option 4 ID : 64635047034
Status : Answered
Chosen Option : 3
Q36 Which one of the following coordinates, promotes and funds research activities of all social
sciences disciplines?
(1) ICPR, New Delhi
(2) ITAS, Shimla
(3 ICS5R, New Delhi
4) NUEPA, New Delhi
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011964
Option 1 ID : 64635047079
Option 2 ID : 64635047080
Option 3 ID : 64635047081
Option 4 ID : 64635047082
Status : Answered
Chosen Option : 3
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Q37 fufufign § & -m fvafrre 1857 % 4 wafim gare g 9 frvate § @ 6 27

(1 FURA]
2 =
(3 fg
o e
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011967
Option 1 ID : 64635047091
Option 2 ID : 64635047092
Option 3 ID : 64635047093
Option 4 ID : 64635047094
Status : Answered
Chosen Option : 3
Q38 Jatins laptep has a LCD sereen. The acronym LCD stands for -
(1) Light Crystal Display
(Z)  Ligquid Compact Display
(3 Light Compact Display
(4 Liguid Crystal Display
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011957
Option 1 ID : 64635047051
Option 2 ID : 64635047052
Option 3 ID : 64635047053
Option 4 ID : 64635047054
Status : Answered
Chosen Option : 4
Q.39
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{5 d BCC : =1y 71 e = #7

(1)
2)
3

)
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el wem = g T e S e 27

WAN

MAN

LAN

SAN

(1) == el Fm o wai e = & o S BOC - 5 =eam & 99 5m % o9 w6l wfat 4
TR L EEW B
2 Teiwmisisiffid B = Bcc- s o mwm it
oo e fim 2
(3) Tl i 1 59w BCC: 5 oM ® BCC : $ivs & wie 3 =51 we= oFy Sl & fvor e
TEm 2
€ IERBCC.mmmssfrlEe s i sizastE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011954
Option 1 ID : 64635047039
Option 2 ID : 64635047040
Option 3 ID : 64635047041
Option 4 ID : 64635047042
Status : Answered
Chosen Option : 4
Q.40 “Gwvanvani” launched by IGNOU to cover the educational needs of India refers to
{1}  Satellite based educational T.V. channel
(124 Educational F.M. Radio network
(3) Global initative of academic networks
4 MOOCs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011965
Option 1 ID : 64635047083
Option 2 ID : 64635047084
Option 3 ID : 64635047085
Option 4 ID : 64635047086
Status : Answered
Chosen Option : 2
Q.41
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011958
Option 1 ID : 64635047055
Option 2 ID : 64635047056
Option 3 ID : 64635047057
Option 4 ID : 64635047058
Status : Answered
Chosen Option : 3
QA2 frofiofign 5 5 farm i s favatimros 8 gem. frgd % e % memm B fem A o
T w1 i g o ?
(Hp ="
(2 Temwstar
(3 R
(4  ffen
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011968
Option 1 ID : 64635047095
Option 2 ID : 64635047096
Option 3 ID : 64635047097
Option 4 ID : 64635047098
Status : Answered
Chosen Option : 4
Q43 The Paris Agreement aims to limit the temperature rise in this century by how many
degrees Celsius above the pre-industrial levels?
(1) 1*C 2 2C
(3 05°C 4 3C
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011963
Option 1 ID : 64635047075
Option 2 ID : 64635047076
Option 3 ID : 64635047077
Option 4 ID : 64635047078
Status : Answered
Chosen Option : 3
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Q44 Which of the following is an example of proprietary system software?
(1) Linux {2) Microsoft Internet explorer

(3 Microsoft office (4)  Microsoft windows

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011956
Option 1 ID : 64635047047
Option 2 ID : 64635047048
Option 3 ID : 64635047049
Option 4 ID : 64635047050

Status : Answered

Chosen Option : 4

Q.45 woe ([) S T U W e T T e @ 6 A S % a8
Fu (1) : T SRS i T ) U e 5 P |

I | # R FE-H w2
2
(1) =A@ @ F==(D
@ @OeanzT @ @O¥FIADTHFd
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011960
Option 1 ID : 64635047063
Option 2 ID : 64635047064
Option 3 ID : 64635047065
Option 4 ID : 64635047066

Status : Answered

Chosen Option : 3

Q.46
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frafirfem 5 2 =15 = aoy i e £ oo S s 27

(@) FHfE A
() e s
(€) o =rem FgE T
(&) T2 o= s feamem

dr= fom my famedl | © w39 w1 = Eifa
e

(L (&), B3R ()
@ (&), ®AED
3 (a) (e) ()

@ (L), o))

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011959
Option 1 ID : 64635047059
Option 2 ID : 64635047060
Option 3 ID : 64635047061
Option 4 ID : 64635047062
Status : Answered
Chosen Option : 2
QA7 ey 3 i womeh 47 e w fE = fetatan oo § 8 5 o food =1 9m 37
(1) o Featenera s & e
(2) Ttree fen wmmm & o (1964-66)
(3) B =
4 g = Rt i = ww T (1965)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011966
Option 1 ID : 64635047087
Option 2 ID : 64635047088
Option 3 ID : 64635047089
Option 4 ID : 64635047090
Status : Answered
Chosen Option : 2
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Q48 ity respect to computers, which one of the following best deseribes phishing?
(1) A malicious program installed on a system that stays concealed to avoeid detection
(2) A method of bypassing normal authentication procedures over a connection to a
network
(3) A tyvpe of unsolicited bulk email of identical messages sent to numerous recipients
{4}  An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011955
Option 1 ID : 64635047043
Option 2 ID : 64635047044
Option 3 ID : 64635047045
Option 4 ID : 64635047046
Status : Answered
Chosen Option : 4
Q.49 s (A) fordi wren & T W A T W A SO0 ® W AN % T e g
sk e T
m (B): TE A g e g e g § g e g 8w g f)
= fou o famedt & 8 = s w1 wm i
() (A @) 7w T ®), A) F =h =
2 (A @) 3w T ®), Q) A e TR
3 (A =R (R)TE 2
@ (AT 2w (R) 6 2
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011962
Option 1 ID : 64635047071
Option 2 ID : 64635047072
Option 3 ID : 64635047073
Option 4 ID : 64635047074
Status : Answered
Chosen Option : 2
Q.50
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ST TE P W T FEA Gee ma (MDG) % me | Feratan Fe w e St
{a) af Fefn ot @ = =Em

(b) = e H gUR

(¢) TETEgE I HE e

(d} = TE-m o FE

4= fon o el § O o T w1 99 S
L4
0 (&), @) Fie) (2 (), (c) 3T (d)
3 (&), ) Hd) (4)  (a), (c) 3T (d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011961
Option 1 ID : 64635047067
Option 2 ID : 64635047068
Option 3 ID : 64635047069
Option 4 ID : 64635047070

Status : Answered

Chosen Option : 2

Section : PART Il Library and Information Science

Q1 According to UDC Scheme (Abridged English 3 Edition) symbol ‘=" in table of
auxilianes indicates
1. common auxilianes oflanguage
2.  common auxilianes of place
3.  common auxiliaries of time
4. common auxiliaries of point of view
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011990
Option 1 ID : 64635047183
Option 2 ID : 64635047184
Option 3 ID : 64635047185
Option 4 ID : 64635047186
Status : Answered
Chosen Option : 4
Q.2
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Which of the following are included in the process of Big 6 Model of Information
Problem Solving Skills advocated bv Camrie A. Lowe and Michael B. Eisenberg?

{a) Task definition, information seeking strategies, location and address
b)  Survey, feedback and compliance
(¢) Use of information, synthesis, evaluation
(d) Analysing, prioritizing, reporting
Choose the correct answer from the options given below :
1.  (a) and (b) are correct
2. (b) and (d) are comect
3. (a) and (c) are comrect

4. (c) and (d) are comect

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012056
Option 1 ID : 64635047447
Option 2 ID : 64635047448
Option 3 ID : 64635047449
Option 4 ID : 64635047450
Status : Answered
Chosen Option : 3
Q3 Identify the components of “WAMP' given below :
(a) Adobe
b)) Web
(c) MySQL
(d) Pear

Choose the comrect answer from the options given below :

1. (a) and (b)
2. (b)and(c)
3. (crand(d)
4, (a)and(d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012026
Option 1 ID : 64635047327
Option 2 ID : 64635047328
Option 3 ID : 64635047329
Option 4 ID : 64635047330

Status : Answered
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l Chosen Option : 3 J
4 ; g i i . .
Q Which Council has developed ‘Leadership in Energy and Environmental Design
(LEED) rating system?
1.  United States Green Building Council
2. United Kingdom Green Building Council
3.  Canadian Green Building Council
4.  Indian Green Building Council
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011995
Option 1 ID : 64635047203
Option 2 ID : 64635047204
Option 3 ID : 64635047205
Option 4 ID : 64635047206

Status : Answered

Chosen Option : 2

Q.5 Identify the characteristics of ‘fugitive material’ from the following :
(a) Material printed in limited quantities
(b) Matenal having perpetual value
(¢) Usually of immediate interest at the time of publication
(d) Materials not related to any programme or processed publications

Choose the correct answer from the options given below @

1. (a)andic)
2, (a)and (B)
3. (b)and(c)
4. (c)and(d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012028
Option 1 ID : 64635047335
Option 2 ID : 64635047336
Option 3 ID : 64635047337
Option 4 ID : 64635047338
Status : Answered
Chosen Option : 4
Q.6
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Which of the following States in North-East region have énacted library legislation?
(a) Mizoram
{b) Manipur
(c) Nagaland
(d) Assam

Choose the comrect answer from the options given below -
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1. (a)and(b)
2. (b)and(c)
3. (@and(c)
4, (c)and(d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012029
Option 1 ID : 64635047339
Option 2 ID : 64635047340
Option 3 ID : 64635047341
Option 4 ID : 64635047342
Status : Answered
Chosen Option : 1
Q.7 Amange the following libraries according to their vear of foundation :
(a) Khuda Bakhsh Library, Patna
(b) Raja Library, Rampur
() Delhi Public Librarv, Delhi
(d) National Library of India, Kolkata
Choose the comect answer from the options given below :
L (k) (2),(d) (e}
2. (a) (), (o) (d)
3. (c)(a), (). (d)
4. () (c) (@), (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012041
Option 1 ID : 64635047387
Option 2 ID : 64635047388
Option 3 ID : 64635047389
Option 4 ID : 64635047390
Status : Answered
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l Chosen Option : 4 J
Q8 Amange the following meta search engines in ascending order according to their vear of
launching :
(2) SeerX
(b) Skyscanner
(¢) Kavak
(d) Metacrawler
Choose the comect answer from the options given below :
Lo (d). (b), (c) ()
2 (d) () (B (e}
3 (a) (b)) (d), (2)
4 (a) (@) (c) ()
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012047
Option 1 ID : 64635047411
Option 2 ID : 64635047412
Option 3 ID : 64635047413
Option 4 ID : 64635047414
Status : Answered
Chosen Option : 1
Q.9
e o o £ o TE) o weele o ea-E
(2) Fomivs @eiwmy
(b) HiaHEt
(c) vEmElE
d) s
e fgu 7y feeedl 4 w51 O 9T
L (@ ®)R ()
2. (2.0 IR@
N ONOELIC
4 ). (0 ()
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012019
Option 1 ID : 64635047299
Option 2 ID : 64635047300
Option 3 ID : 64635047301
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Option 4 ID : 64635047302
Status : Answered
Chosen Option : 3
Q.10 Armrange the following library softwares in ascending order according to their vear of
launching :
(a) Php-MyvLibrary
t} ABCD
(c) Koha
(d) NewGenLib
Choose the comrect answer from the options given below :
1. {c) (&) (b) (d)
2. (2. () (a), (d)
3. (g (d).(a), (®)
4. () (@) (d). (b)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012048
Option 1 ID : 64635047415
Option 2 ID : 64635047416
Option 3 ID : 64635047417
Option 4 ID : 64635047418
Status : Answered
Chosen Option : 1
Q.11 S . ; R z
Diffusion of innovation” theory is proposed by
1. Judy Smith
2.  Enc Dezenhall
3.  Peter Drucker
4. Everett Rogers
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011997
Option 1 ID : 64635047211
Option 2 ID : 64635047212
Option 3 ID : 64635047213
Option 4 ID : 64635047214
Status : Answered
Chosen Option : 3
Q.12
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YET SR SR 5 ¥ T 98y F1 4T T 59 918 T 9% o 540 & 1 gEae S
1 UFH SN0 & 3 56 99y & WHIEd &1 910 @5 30 TP &, ol R &1 99,
F1 3rafl, 9 T8 3 SO § % AU f5E 52 09 S &1 1S 5 95dl 6

IuiEa SEeeu A yuH #i e Fe R s a8

1. A=
2. TEm=
3. Waaw
4, fpk=
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012013
Option 1 ID : 64635047275
Option 2 ID : 64635047276
Option 3 ID : 64635047277
Option 4 ID : 64635047278
Status : Answered
Chosen Option : 4
Q.13 i10-index was created by
1. Scimago Journal and Country Rank
2. Web of Science
3 Scopus
4, Google Scholar
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012011
Option 1 ID : 64635047267
Option 2 ID : 64635047268
Option 3 ID : 64635047269
Option 4 ID : 64635047270
Status : Answered
Chosen Option : 2

Q14 g fver, wafe ag 981 & F1 odiely seond &
1. e o
2. ol ® o

3. wER-IEfE

4. wEr-ligk
Options 1. 1
2.2
3.3
4.4
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Question Type : MCQ
Question ID : 64635012017
Option 1 ID : 64635047291
Option 2 ID : 64635047292
Option 3 ID : 64635047293
Option 4 ID : 64635047294
Status : Answered
Chosen Option : 1
Q15 binary number system, digit *22 is represented by
1. 10111
2. 11000
3. 00111
4. 10110
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011972
Option 1 ID : 64635047111
Option 2 ID : 64635047112
Option 3 ID : 64635047113
Option 4 ID : 64635047114
Status : Answered
Chosen Option : 4
Q16 1y dara transfer process, which of the following has multiple bridges between different
parts?
1. Firewalls
2. Switching packets
3. Hubs
4. Softwares
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011970
Option 1 ID : 64635047103
Option 2 ID : 64635047104
Option 3 ID : 64635047105
Option 4 ID : 64635047106
Status : Answered
Chosen Option : 2
Q.17
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Which of the following components is NOT included in ‘LAMP'?

1. Linux
2. Apache
3. MySQL
4. Peal
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 64635012008
Option 1 ID : 64635047255
Option 2 ID : 64635047256
Option 3 ID : 64635047257
Option 4 ID : 64635047258

Status : Answered

Chosen Option : 2

Q18 Which of the following are non-probability sampling techniques?

(a) Purposive

(b} Convenience

(c) Snowball

(d) Simple random

Choose the comrect answer from the options given below :

L (a), (b)and (d)

2. (b), (c)and (d)

3. () (e) and (d)

4 (2, ®and (c)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012021
Option 1 ID : 64635047307
Option 2 ID : 64635047308
Option 3 ID : 64635047309
Option 4 ID : 64635047310
Status : Answered
Chosen Option : 3
Q.19
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Armrange the comrect sequence of the sections of main entry in CCC (Ed. 3) :
(a) Title section
(b) Leading section
(c) Note section
(d) Accession number
Choose the comrect answer from the options given below :
Lo @ () (d) @
2 (b (a) (e} (d)
3. (@), (), (<), (d)
4. (@), (c), (b), (d)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012045
Option 1 ID : 64635047403
Option 2 ID : 64635047404
Option 3 ID : 64635047405
Option 4 ID : 64635047406
Status : Answered
Chosen Option : 2
Q20 3¢ bit number as defined in IP Address in Interet Protocol Version 4 is
1. 16
2. 128
3. 64
4, 32
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011999
Option 1 ID : 64635047219
Option 2 ID : 64635047220
Option 3 ID : 64635047221
Option 4 ID : 64635047222
Status : Answered
Chosen Option : 4
Q.21
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The easiest way to bring Intemet video to one’s desktop or download is known as
1. flogging
2. podcasting
3. wvodeasting

4. blogging

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011973
Option 1 ID : 64635047115
Option 2 ID : 64635047116
Option 3 ID : 64635047117
Option 4 ID : 64635047118

Status : Answered

Chosen Option : 2

Q2 o Frgdn A gARE AR -

-1 -1

(a) TS WuTER () e e e e # O

) urm-es e ) Sooworeht @ amEfen ow @ sEw
e B At de | v g
Fuifa

{c) T fasgEm (i) FemE/Aw Hw R 58 B 5 #t
TN & 40" @1 68y

(d) TFEAE (iv) P & ®1 R 98 "R S oUW
T H T T F 9 & 6y

g g et & 9 vt g & 999 S

1. (aHv): (i) (e)3); (d-G)
2 (a) (), (eiv): (i)
30 () (rin); (eHiv); (dH[
4 (@i GGV (e (@0

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012036
Option 1 ID : 64635047367
Option 2 ID : 64635047368
Option 3 ID : 64635047369
Option 4 ID : 64635047370
Status : Answered
Chosen Option : 4
Q.23
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Anv act bv a conservator that involves a direct interaction between the conservator and
the cultural marerial is called

1.  archive conservation
2 instrumentive conservation
3.  preventive conservation

4. interventive conservation

https://cdn3.digialm.com//per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083019123/208301912352D1298/15614707818972919/GJ...

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011996
Option 1 ID : 64635047207
Option 2 ID : 64635047208
Option 3 ID : 64635047209
Option 4 ID : 64635047210
Status : Answered
Chosen Option : 2
Q24 Who among the following have developed the initial version of SPSS?
(a} Nomman Nie
(b) C.Hadlai Hull
{(c) DaleH. Bont
(d} John Chambers
Choose the comrect answer from the options given below :
1. (b}, (c)and (d)
2. (a), (b)and (c)
3. (a), (b) and (d)
4. (a), (c) and (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012027
Option 1 ID : 64635047331
Option 2 ID : 64635047332
Option 3 ID : 64635047333
Option 4 ID : 64635047334
Status : Answered
Chosen Option : 3
Q.25
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Which of the following Public Library Acts does NOT have the provision of Library
Cess?

(@) Kemla

() Kamataka
(c) West Bengal
(d) Maharashtra

Choose the correct answer from the options given below :
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L. (¢) and(d)
2 () and(d)
3. (R and(k)
4. (a) and(c)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012023
Option 1 ID : 64635047315
Option 2 ID : 64635047316
Option 3 ID : 64635047317
Option 4 ID : 64635047318
Status : Answered
Chosen Option : 1
Q26 ppfefan & o S s R s @ aeds i &
(2) T o (s HHi)
(b) HE WY (S0 TS5 ©E)
(c) HEM WAl g Al ST ity
(d) -Sgfema FEomieor (regi=g UATans )
e few Ty faepeal /4 w61 S 9T
L () (M)
2 @) &)W (e)
3. (@) (0 WR (D
4 (a), () 3R (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012024
Option 1 ID : 64635047319
Option 2 ID : 64635047320
Option 3 ID : 64635047321
Option 4 ID : 64635047322
Status : Answered
Chosen Option : 3
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(a) arfdE o ey ) deaT
() TR AR - e samm
(c) dUefteaad
(d) S oo
12 fan M fywedt # & wet o gfau
L @ ®) MR () FAE
2 () (c) M (d)FEE
3. @ (0 WR@FIE
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012058
Option 1 ID : 64635047455
Option 2 ID : 64635047456
Option 3 ID : 64635047457
Option 4 ID : 64635047458
Status : Answered
Chosen Option : 3
Q.28 A customized website (often based on restrictions of domain articles) that immerses
information from a wide amray of sources in a consistent and unified manner is known
as
1.  acollection of interlinked web pages
2.  online portal
3. web portal
4. website
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011981
Option 1 ID : 64635047147
Option 2 ID : 64635047148
Option 3 ID : 64635047149
Option 4 ID : 64635047150
Status : Answered
Chosen Option : 1
Q.29
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Match List—I with List-II :

List=I List=II
(a) FORSA [(¥] Science and Technology
() NERC (i) Medicinal Science
{c) HELNET (i)  Agriculture
(d) CeRA (iv) Astrophvsics

Choose the comect option from those given below :
Lo (aHi) (b (civ), (d)()
2. (e () i (dHv)
3. (aivy (b)) (i) (d)iii)
4. fai); (=) (e)=ivy (d=)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012034
Option 1 ID : 64635047359
Option 2 ID : 64635047360
Option 3 ID : 64635047361
Option 4 ID : 64635047362
Status : Answered
Chosen Option : 3
Q.30

Who propounded ‘minimum, middling and maximum theories’ in reference service?
1.  C. M Winchell
2. James I Wyer
3. Samuel Rothstein

4. D.W.Lewis

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011974
Option 1 ID : 64635047119
Option 2 ID : 64635047120
Option 3 ID : 64635047121
Option 4 ID : 64635047122
Status : Answered
Chosen Option : 3
Q.31
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Match List—I with List—II :

List—I List—1I
(Formats of presenting (Relevant narratives)
information)

{a) Electronic {i) In-person meetings, personal
discussions

(b} Print {ii) Telemeetings, technophobes,
videographic meet

(c} Facetoface (i) Social media, e-mail, website
banners, pay-per-click ads

(d) Tele-conferencing (iv) Brochures, fliers, ads, catalogues,

reports, memos or letrers

Choose the comrect option from those given below :
Lo (@), (o)=iv); ()= (d)=ii)
2 (aHv) (i), (o-G) (d)-()
3 (M) (bHIv); (i) (d)(iii)
4 (i) (e)v); (e)Gi); (d)Gi)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012030
Option 1 ID : 64635047343
Option 2 ID : 64635047344
Option 3 ID : 64635047345
Option 4 ID : 64635047346
Status : Answered
Chosen Option : 1
Q.32

Who is the author of the book entitled, The Third Wave?
1. Daniel Bell
2. Alvin Toffler
3.  W.R. Ashby

4. PRoben T. Craig

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011969
Option 1 ID : 64635047099
Option 2 ID : 64635047100
Option 3 ID : 64635047101
Option 4 ID : 64635047102
Status : Answered
Chosen Option : 2
Q.33
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The term "Epigraph” means
1. amotto or brief introduction prefixed to a book
2. spine of a book
3. essence of a subject

4. apamphlet
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011983
Option 1 ID : 64635047155
Option 2 ID : 64635047156
Option 3 ID : 64635047157
Option 4 ID : 64635047158
Status : Answered
Chosen Option : 2
Q34 Pgiytaa § 8 $H-9 A HieE O &
(a) Twiafae
®) T
fc) SrEd
) frtd efifier
= fam o el 79w I g
1L () () #R(d)
2. (2. () AR (D)
3 (@B IR
4. (), () 3R (@)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012025
Option 1 ID : 64635047323
Option 2 ID : 64635047324
Option 3 ID : 64635047325
Option 4 ID : 64635047326
Status : Answered
Chosen Option : 2
Q.35
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fFrafifEa 7 9 5o te-ga & TU-91Y TR $15 995 818 a1 o4l 31 U6 4a § AR
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1 e e
2. et
3. guEsdR
4, Hfd emgfagye
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012012
Option 1 ID : 64635047271
Option 2 ID : 64635047272
Option 3 ID : 64635047273
Option 4 ID : 64635047274

Status : Answered

Chosen Option : 4

Q36 Assertion (A) : Non-participant cbservation technique is used as a primary data
collection tool.

Feason (R) : In non-participant observation technique, the researcher influences the
subject of the study to get primary data.

In the context of the above two statements, which one of the following is tue?
1. (A)is true but (R) is false
2. (A)is false but (R)is true
3,  Both(A) and (R) are false
4.  Both{A) and (R) are true

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012053
Option 1 ID : 64635047435
Option 2 ID : 64635047436
Option 3 ID : 64635047437
Option 4 ID : 64635047438
Status : Answered
Chosen Option : 4
Q.37
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Proffas # 8 $19-3 = R Waey F Wi g9 i Fam
@ W
®) FI

3 fam o faeedt 4§ w8 oeR g
L () () 3R (d)
2 (@ (W)

3. (@), () IR ()
4 (@ ®)H(E©)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012022
Option 1 1D : 64635047311
Option 2 ID : 64635047312
Option 3 ID : 64635047313
Option 4 ID : 64635047314
Status : Answered
Chosen Option : 4
QB & & 3 T Fuis, e wd F s s 78 2 g 38 R il & sam &
fowm fFrm e & S sm o 2
1. e
5 i
3. g aEw
g o
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011993
Option 1 ID : 64635047195
Option 2 ID : 64635047196
Option 3 ID : 64635047197
Option 4 ID : 64635047198

Status : Answered

Chosen Option : 3

Q.39
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Armange the following secial networking tools according to their vear of launching in
ascending order :

(a) Twitter
(k) Faeebook
(¢) LinkedIn
(d) Pinterest
Choose the correct answer from the options given below :
L (@) (d).G@ ()
2 (d). () @) (e
3. (e) () () (d)
4 (@ () @) (@
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012043
Option 1 ID : 64635047395
Option 2 ID : 64635047396
Option 3 ID : 64635047397
Option 4 ID : 64635047398
Status : Answered
Chosen Option : 4
Q40 [uder RRRLF (Finaneial) Assistance Matching Scheme, assistance will be shared on
matching basis between RRRLF and North Eastem States at the ratio
1. 80:20
2. 90:10
3. 50:50
4, 60:40
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011979
Option 1 ID : 64635047139
Option 2 ID : 64635047140
Option 3 ID : 64635047141
Option 4 ID : 64635047142
Status : Answered
Chosen Option : 4
Q.41
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In which vear “Webster's Third New Intemational Dictionary of the English Language’

was published?

1. 1961

2. 1965

3. 1970

4. 1971
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011984
Option 1 ID : 64635047159
Option 2 ID : 64635047160
Option 3 ID : 64635047161
Option 4 ID : 64635047162

Status : Answered

Chosen Option : 4

Q.42 Which software is used by INFLIBNET Access Management Federation (INFED) for
authenticating authorized users to access the resources?
1. Koha
2. Php-MyLibrary
3. Shibboleth
4, NewGenLib
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011989
Option 1 ID : 64635047179
Option 2 ID : 64635047180
Option 3 ID : 64635047181
Option 4 ID : 64635047182
Status : Answered
Chosen Option : 3
Q.43

https://cdn3.digialm.com//per/g21/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083019123/2083019123S2D1298/15614707818972919/GJ...  44/76



6/29/2019

https://cdn3.digialm.com//per/g21/pub/2083/touchstone/AssessmentQPHTMLMode 1//2083019123/2083019123S2D1298/15614707818...

Match List—I with List-II :

List-I Lise-1I
(e-depository) (¥ ear of establishment)
(a) PMC @ 1999
() KB e-Depot Gi) 2005
(c) Portico (i) 2000
(d) LOCKSS (v) 2003

Choose the correct option from those given below
Lo () (v (e dHD
2. (arHiv); ), () (i)
3.0 (apH); (D) (eiv); (d-D
4 @G GGV ()0 ()

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012039
Option 1 ID : 64635047379
Option 2 ID : 64635047380
Option 3 ID : 64635047381
Option 4 ID : 64635047382
Status : Answered
Chosen Option : 3
Q.44

Book Order Vigilance Pad (BOVP) was suggested by
1. Paul Orlet
2. Michael Gorman
3. Henry Fayol

4, Melvil Dewey

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011971
Option 1 ID : 64635047107
Option 2 ID : 64635047108
Option 3 ID : 64635047109
Option 4 ID : 64635047110
Status : Answered
Chosen Option : 4
Q.45
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012015
Option 1 ID : 64635047283
Option 2 ID : 64635047284
Option 3 ID : 64635047285
Option 4 ID : 64635047286
Status : Answered
Chosen Option : 4
Q.46

Amange the following principles of management given by Henr Fayol in proper
sequence

(a) Division of work
(b) Unity of command
() Discipline
(d) Authority and responsibility
Choose the cormrect answer from the options given below -
L (&) () (d). (k)
2 (@), (@) () (&)
3. (). () (d) @
4. (e} (d)(a) ()

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012046
Option 1 ID : 64635047407
Option 2 ID : 64635047408
Option 3 ID : 64635047409
Option 4 ID : 64635047410
Status : Answered
Chosen Option : 2
Q.47
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NDL-India is developed and maintained by
1. IIT, Gauhati
2. IIT, Chennai
3. [IIT,Roorkee

4. IIT, Kharagpur

Options 1. 1

2.2
3.3
4.4

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012002
Option 1 ID : 64635047231
Option 2 ID : 64635047232
Option 3 ID : 64635047233
Option 4 ID : 64635047234
Status : Answered
Chosen Option : 3
Which of the search engines is merged with ScienceDirect?
1. CireSesrX
2. AlmaVista
3.  Dogpile
4. Scius
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012003
Option 1 ID : 64635047235
Option 2 ID : 64635047236
Option 3 ID : 64635047237
Option 4 ID : 64635047238
Status : Answered
Chosen Option : 4
Q.49

r
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Question Type : MCQ
Question ID : 64635012004
Option 1 ID : 64635047239
Option 2 ID : 64635047240
Option 3 ID : 64635047241
Option 4 ID : 64635047242
Status : Answered
Chosen Option : 4
Q.50 LOCESS has been initiated by
1.  MIT Libraries
2. Stanford University
3. University of Waikato
4. Cambridge University
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012009
Option 1 ID : 64635047259
Option 2 ID : 64635047260
Option 3 ID : 64635047261
Option 4 ID : 64635047262
Status : Answered
Chosen Option : 2
Q.51 Assertion (A) : E-Granthalava is a freelv available software.
Reason (R) : E-Granthalava can be customized depending on the requirement of
libraries.
In the context of the above two statements, which one of the following is true?
1. {A)is rue but (R) is false
2. (A)is false but (R)is true
3. Both(A)and (R) are false
4. Both{A)and (R) are true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012052
Option 1 ID : 64635047431
Option 2 ID : 64635047432
Option 3 ID : 64635047433
Option 4 ID : 64635047434
Status : Answered
Chosen Option : 4
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Q52 70TEROisa
1.  library management tool
2. statistical analysis tool
3. senals management tool
+ bibliographic reference management tool
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011987
Option 1 ID : 64635047171
Option 2 ID : 64635047172
Option 3 ID : 64635047173
Option 4 ID : 64635047174
Status : Answered
Chosen Option : 4
Q.53 In the formation of subjects, ‘progressive decrease of extension and increase of
intention of a basic subject’ is known as
1.  lamination
2. denudation
3. dissection
4. loose assemblage
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011992
Option 1 ID : 64635047191
Option 2 ID : 64635047192
Option 3 ID : 64635047193
Option 4 ID : 64635047194
Status : Answered
Chosen Option : 3
Q.54
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EIEsui vl
(c) TSHEWE S (iii) gﬁ:&mﬁamw
(@) FrEREwEEA (v) uferes i AuRfesa e
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Lo (ariv) -0 (e (d)-Gib)
2 (aHi); ) (e-iv): (d-ii)
3. (ar; (e, (o)-Gi) (d-iv)
4. (e Q)i (e-Gv) (d-0

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012035
Option 1 ID : 64635047363
Option 2 ID : 64635047364
Option 3 ID : 64635047365
Option 4 ID : 64635047366
Status : Answered
Chosen Option : 4
Q.55 ; ; e
The protocol used to provide securitv to e-mails is known as
1. POP
2. PGP
3. SNMP
4 TCP
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012000
Option 1 ID : 64635047223
Option 2 ID : 64635047224
Option 3 ID : 64635047225
Option 4 ID : 64635047226
Status : Answered
Chosen Option : 4
Q.56
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Reason (R)

L

. The package usually includes some less relevant titles.

In the context of the above two statements, which one of the following is true?

(A)is true but (R) is false

Assertion (A) @ ‘Big deal’ is a licensed package of journals that costs less to the
subscriber,
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2. {A)is false but (R) is true
3.  Both(A)and (R) are true
4. Both(A)and (R) are false
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012051
Option 1 ID : 64635047427
Option 2 ID : 64635047428
Option 3 ID : 64635047429
Option 4 ID : 64635047430
Status : Answered
Chosen Option : 3
Q57 Mateh List-I with List=I1 :
List-I List-II
(Class of IP) (Supporting coverage)
(a) Class AIP (i)  Supports small networks with fewer than
256 devices
(b) Class BIP (i)  Reserved for multicast groups
(c) Class CIP (iii)  Supports large networks with manv devices
(d) Class DIP (iv)  Supports medium-sized networks
Choose the correct option from those given below :
L (@G 06 (eHGv); (d)-)
2 (@) ) e (dH6v)
3.0 (), (bHiv); (i) (d)-()
4. (@), (eHiv) (e, (dHi)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012037
Option 1 ID : 64635047371
Option 2 ID : 64635047372
Option 3 ID : 64635047373
Option 4 ID : 64635047374
Status : Answered
Chosen Option : 3
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Q.58 Assertion (A) : Students are among the most prolific users of social nerwork sites
(SME).
Reason (R) : Social network sites alwavs help in fulfilling their academic
information needs.
In the context of the above two statements, which one of the following is true?
1. (A)is true but (R) is false
2. (A)is false but (R)is true
3. Both(A) and (E) are false
4. Both{A) and (E) are true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012050
Option 1 ID : 64635047423
Option 2 ID : 64635047424
Option 3 ID : 64635047425
Option 4 ID : 64635047426
Status : Answered
Chosen Option : 4
Q.59 Information Outlook’ is a bi-monthly online magazine published by
1. IFLA
2. ALA
3. SLA
4  CILIP
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011982
Option 1 ID : 64635047151
Option 2 ID : 64635047152
Option 3 ID : 64635047153
Option 4 ID : 64635047154
Status : Answered
Chosen Option : 1
Q.60
‘agda @ fha Rehe Ea
1 il TEs
2. fom afiffre
ER-
4. Ipefte gwa
Options 1. 1
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2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012016
Option 1 ID : 64635047287
Option 2 ID : 64635047288
Option 3 ID : 64635047289
Option 4 ID : 64635047290
Status : Answered
Chosen Option : 1
Q.61 Amange the following States in ascending order of the vear of enactment of their
respective Public Library Acts :
(2) Arnachal Pradesh
(b) Urtar Pradesh
{c) Haryana
(d} Orissa
Choose the comect answer from the options given below :
L (d). () (&), (a)
2. (c) (d), (b, (a)
3. () (d)(c) (a)
4. (), (c), (b). (d}
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012042
Option 1 ID : 64635047391
Option 2 ID : 64635047392
Option 3 ID : 64635047393
Option 4 ID : 64635047394
Status : Answered
Chosen Option : 2
Q62 Iytemer Govemance Guide for Libraries’ is a publication of
1. ALaA
2. TFLA
3. UNESCO
4 OCLC
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011980
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Option 1 ID : 64635047143
Option 2 ID : 64635047144
Option 3 ID : 64635047145
Option 4 ID : 64635047146
Status : Answered
Chosen Option : 2

Q83 gl F - A PRE e -

Gcia | GGl
(a) WA i)y  ohEEE
(b) SmEe (i) ofoemymeEe

c) PFmeieRe iy foespaw
(d) muEdi=e Gv) @R wE dEd Y mifea

f&u o feeat ©f & Wt SO &1 90 S
1 (a)i), ()= (e-0v); (d)-Gii)
2. (@) @ (-G ()
3. (@A) MGV (O (G
4. (aHiv); G (e (d-)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012040
Option 1 ID : 64635047383
Option 2 ID : 64635047384
Option 3 ID : 64635047385
Option 4 ID : 64635047386
Status : Answered
Chosen Option : 2
Q.64

Which of the following V's associated with Big Data is concemed with the integritv of
data?

1. Volume
2. Veleeity
3. Varety

4, Veraaty

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012007
Option 1 ID : 64635047251
Option 2 ID : 64635047252
Option 3 ID : 64635047253
Option 4 ID : 64635047254
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Status : Answered
Chosen Option : 2
Q63 Match List—T with List-1I :
List-1I List—II
(Awards) (Librarv Associations
in India)
{a) Best Retired Librarian Award (i) sIs
by 5. M. Ganguli Award (i) IASLIC
(c) S.P.Narang Research Promotion i) ILA
Award
(d) Young Scientist Award (iv) IATLIS
Choose the correct option from those given below :
Lo (ar0) ()il (e-Gv); (d)-()
2 (a)iv);, (b)) (D) (dHD
3. ()i (i) (-G (dHG)
4. (2, ) (-Gv); (dH)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012033
Option 1 ID : 64635047355
Option 2 ID : 64635047356
Option 3 ID : 64635047357
Option 4 ID : 64635047358
Status : Answered
Chosen Option : 4
Q.66 Assertion (A) : All academic libraries provide their services on mobile platform.
Reason (R) : Academic community demands more library services through maobile
app.
In the context of the above two statements, which one of the following is true?
1. Both(A) and (R) are true
2. Both(A) and (R) are false
3. (A)is false but (R) is true
4. (A)is true but (R) is false
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012049
Option 1 ID : 64635047419
Option 2 ID : 64635047420
Option 3 ID : 64635047421
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Option 4 ID : 64635047422
Status : Answered
Chosen Option : 1
Q.67 pssertion (A) : Indian National Bibliography is not a comprehensive source of Indian
publications.
Reason (R) : National Library of India, Kolkata is entitled to receive one copy of
each Indian publication under Delivery of Books Act.
In the context of the above two statements, which one of the following is true?
1. (A)is true but (R) is false
2. (A)is false but (R)is true
3. Both(A)and (R) are true
4. Both(A) and (BE) are false
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012054
Option 1 ID : 64635047439
Option 2 ID : 64635047440
Option 3 ID : 64635047441
Option 4 ID : 64635047442
Status : Answered
Chosen Option : 3
Q.68 ‘Law of Parsimony” belongs to the
1.  postulates
2.  normative principles
3. rules
4. canons
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011991
Option 1 ID : 64635047187
Option 2 ID : 64635047188
Option 3 ID : 64635047189
Option 4 ID : 64635047190
Status : Answered
Chosen Option : 4
Q.69
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Lo (a0 ) (e-Gv): (d)-Gi)
2. (a)i) (eHGE) (evd (d)i)
30 (ay(v); )=Gil); ()=G); (d)=(i)
4. (@D, i) (i) (d-iv)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012031
Option 1 ID : 64635047347
Option 2 ID : 64635047348
Option 3 ID : 64635047349
Option 4 ID : 64635047350
Status : Answered
Chosen Option : 1
Q.70

Which of the following is a collaborative network of reference librarians?
1. Worldcat
2. INFLIBNET
3. QuestionPoint

4. Global Scholar

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011976
Option 1 ID : 64635047127
Option 2 ID : 64635047128
Option 3 ID : 64635047129
Option 4 ID : 64635047130
Status : Answered
Chosen Option : 3
Q.71
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Which is NOT the part of Maslow's hierarchy of need?
1. Esteem need
2. Basic need
3. Secunitvneed

4. Psycho-phvsical need

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011998
Option 1 ID : 64635047215
Option 2 ID : 64635047216
Option 3 ID : 64635047217
Option 4 ID : 64635047218
Status : Answered
Chosen Option : 3
Q72 Dpeiphi method is related to
1. conservation method
2. forecasting process based on panel of experts
3. planning of disaster management
4. method of recording bibliographic data
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012014
Option 1 ID : 64635047279
Option 2 ID : 64635047280
Option 3 ID : 64635047281
Option 4 ID : 64635047282

Status : Answered

Chosen Option : 2

Q73 mﬁﬁﬁq-ﬂmwﬁﬂﬁhﬁiﬁﬂﬁﬁﬁwﬁﬁﬁﬁﬁmﬁ@Hm
& @nfa amnfea ofomm Iues F § AR faas Aearsia Te & e & §9E A

e fig waw Suas A7
1. T fesliam
2. dmsEgdm
3w
4. 5

Options 1. 1

2.2

3.3

4.4

r \
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Question Type : MCQ
Question ID : 64635011988
Option 1 ID : 64635047175
Option 2 ID : 64635047176
Option 3 ID : 64635047177
Option 4 ID : 64635047178
Status : Answered
Chosen Option : 3
Q.74 " o ;
Waorld Intellecrual Propernty Organisarion (WIPO) is an agency of
1. ALA
2. IFLA
3. UNESCO
4. United Nations
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011977
Option 1 1D : 64635047131
Option 2 ID : 64635047132
Option 3 ID : 64635047133
Option 4 ID : 64635047134
Status : Answered
Chosen Option : 4
Q.75 Armange the following information svstems in ascending order according to their vear
of establishment :
(a) INIS
(&) AGRIS
(c) MEDLARS
{d) INSPEC
Choose the correct answer from the options given below :
Lo ), (2), (c), (d)
2 (d)(c). (a), (&)
30 @ (. @.0)
4. {2, (d) (), (&)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012044
Option 1 ID : 64635047399
Option 2 ID : 64635047400
Option 3 ID : 64635047401
Option 4 ID : 64635047402
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Status : Answered
Chosen Option : 2
Q.76 According to 5. E. Ranganathan, if any conflict arises between the canons and/or
principles, it is resolved by an appeal to
1. The Theories
2. The Rules
3.  The Five Laws
4.  The Postulates
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011985
Option 1 ID : 64635047163
Option 2 ID : 64635047164
Option 3 ID : 64635047165
Option 4 ID : 64635047166
Status : Answered
Chosen Option : 4
Q.77
FE-T HE. U, 9. . 7 et Ry veme o weeE G et st s i
1. aEedw
2. ST a™
3. OulEE e O
4. W HE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011994
Option 1 ID : 64635047199
Option 2 ID : 64635047200
Option 3 ID : 64635047201
Option 4 ID : 64635047202
Status : Answered
Chosen Option : 4
Q.78 . ; G ;
E-journal artiele can be identified with the help of
1.  Digital Open Identifier
2. Joumal Source Identifier
3. Joumal Article Identifier
4, Digital Object [dentifier
Options 1. 1
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2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635011975
Option 1 ID : 64635047123
Option 2 ID : 64635047124
Option 3 ID : 64635047125
Option 4 ID : 64635047126
Status : Answered
Chosen Option : 4
Q79 frgfufae # & oA-8 dediewm GEeiEn sfida 3 79e 22
(2) oS
() TESTEm
(©) =g 38
(d) w21
e feg o faemedt A & W@ e 9T
Lo (&) (b) MR (c)
2. (a), (b) HR(d)
3. () (@) R (D)
4 (a), () ¥R (d)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012020
Option 1 ID : 64635047303
Option 2 ID : 64635047304
Option 3 ID : 64635047305
Option 4 ID : 64635047306
Status : Answered
Chosen Option : 4
Q80 \plriplexing is used in
1. packet switching
2. circuit switching
3.  dataswitching
4.  protocol switching
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ

Question ID : 64635012005
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Choose the comrect option from those given below :
1 (aHiy )iy (e-0v): (d-0
L (aiv); )G, (oG (d-0)
30 (aHin); ®GvY (i) (d)-()
4 (D Gk ©-v) (d)-i)

Options 1. 1
2.2
3.3

https://cdn3.digialm.com//per/g21/pub/2083/touchstone/AssessmentQPHTMLMode1//2083019123/208301912352D1298/15614707818972919/GJ...

Option 1 ID : 64635047243
Option 2 ID : 64635047244
Option 3 ID : 64635047245
Option 4 ID : 64635047246
Status : Answered
Chosen Option : 2
Q.81 Tdentify the key salient fearures of ‘Private Library” from the following -
{a) A librarv gives access to general public
(b) A library belonging to an individual
(c) A library not supported by taxation
(d) A library having statutory support
Choose the comrect answer from the options given below :
1. (b)) and (d)are comect
2. (a) and (b) are correct
3. (b)) and (c) are comect
4, (a) and (c) are correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012055
Option 1 ID : 64635047443
Option 2 ID : 64635047444
Option 3 ID : 64635047445
Option 4 ID : 64635047446
Status : Answered
Chosen Option : 1
Q82 Natch List—I with List—1I -
List=I List=II
(a) Repeaters (i) Allows similar networks to communicate
(b) Gateways (i)  Allows datate be transferred within the
network
(c) Routers (iii) ~ Help in strengthening the signals
(d) Switches (iv)  Allows diszsimilar networks to communicate
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4.4

Question Type : MCQ
Question ID : 64635012038
Option 1 ID : 64635047375
Option 2 ID : 64635047376
Option 3 ID : 64635047377
Option 4 ID : 64635047378

Status : Answered

Chosen Option : 2

Q.83 March List-I with List=I1 :

List=I List=II
{a) Yearbooks i}  Annual publication listing a set of events
forthcoming in next vear
(b} Directory (ii) Infarmation about events of previous vear
(c) Almanac (iii) Contains instructions or advice about a
particular subject
(d) Handbook (v A list of facts that contains an

alphabetical index of names and
addresses of persons or organizations

Choose the correct option from those given below :
Lo (aHiv): (o)) (o)), (D)
2. (i) (A (i) (d-0)
3. (@i HGv): () (d)ii)
4. @G G)v): ()-G): (A
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 64635012032
Option 1 ID : 64635047351
Option 2 ID : 64635047352
Option 3 ID : 64635047353
Option 4 ID : 64635047354

Status : Answered

Chosen Option : 4

Q84 Which of the following information-seeking behaviour model explains the activities,
viz,, starting, chaining, browsing, monitoring, etc,”

1.  Wilson's nested model
2. Ellis's model
3. Darvin's model

4. Kuhlthau’s model

Options 1. 1
2.2
3.3
4.4

[ Question Type : MCQ ]
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Question ID : 64635011978
Option 1 ID : 64635047135
Option 2 ID : 64635047136
Option 3 ID : 64635047137
Option 4 ID : 64635047138
Status : Answered
Chosen Option : 4
Q85  Who introduced the concept of Information Encountering (IE) into the Information
Behaviour Literature in 19977
1. 5 Erdelez
2. P.Vakkan
3. R. Savolainen
4. B.Dervin
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012018
Option 1 ID : 64635047295
Option 2 ID : 64635047296
Option 3 ID : 64635047297
Option 4 ID : 64635047298
Status : Answered
Chosen Option : 4
Q86 profafam o 3 fra g ors-1g T &7
1. wzﬂm
2. femairfomg
3. wWiesed
4. & oET e
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012001
Option 1 ID : 64635047227
Option 2 ID : 64635047228
Option 3 ID : 64635047229
Option 4 ID : 64635047230
Status : Answered
Chosen Option : 2
Q.87
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Identify the penalty in case of plagiarism at ‘Level 2° in Academic and Research
Publications as per UGC (Promotion of Academic Integritv and Prevention of
Plagiarism in Higher Education Institutions) Regulation, 2018 :

1. Nopenalty

2. 5hall be denied a right to one annual increment

3. Shall be denied a right to two successive annual increments

4. Shall be denied a right to three successive annual increments

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635011986
Option 1 ID : 64635047167
Option 2 ID : 64635047168
Option 3 ID : 64635047169
Option 4 ID : 64635047170

Status : Answered

Chosen Option : 1

Q.88 HaaS is also known as

1. 3Saal
2 Iaa$
3. Paas
4. NaaS
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 64635012006
Option 1 ID : 64635047247
Option 2 ID : 64635047248
Option 3 ID : 64635047249
Option 4 ID : 64635047250
Status : Answered
Chosen Option : 1
Q.89

Identify the frequency of occurrence and the analysis of co-occurrence of deseriptors
assigned to joumnal armicles :

1. Co-word analysis

2. Word analvsis

3. h-index

4. g-index
Options 1. 1
2.2
3.3
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4.4

Question Type : MCQ
Question ID : 64635012010
Option 1 ID : 64635047263
Option 2 ID : 64635047264
Option 3 ID : 64635047265
Option 4 ID : 64635047266

Status : Answered

Chosen Option : 3

Q.90 Identify the persons NOT associated with the development of UDC :

(a) 5.EK._ERanganathan

b)  Paul Otlet

(c) H.E.Bliss

(d) Henrv La Fontaine

Choose the comrect answer from the options given below :

1.  (a) and (c) are comect

2. (a) and (b) are carrect

3.  (c)and (d) are correct

4. (b) and (d) are correct

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012057
Option 1 ID : 64635047451
Option 2 ID : 64635047452
Option 3 ID : 64635047453
Option 4 ID : 64635047454

Status : Answered

Chosen Option : 1

Comprehension:
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SubQuestion No : 91
QN et o it far o i F o finft 27

1. e
2, i s
3, apfEmE
4 P
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635012064
64635047475
64635047476
64635047477
64635047478
Answered

3

Comprehension:
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SubQuestion No : 92

Q92 T, U, U. & ot wofea &1 sima sma &t e fewe o @1 w27
1. ofrea oft 2t
2. grwiEs &8,
3wty
4. WY IESE
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635012060
64635047459
64635047460
64635047461
64635047462
Answered

2
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SubQuestion No : 93
Q93 o srgaFl & AU W 75 B9 5T & wE wa av 12 e @ g Re o W@ 8

1. 47T
2. o=
3. ATgwtte
4 =
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635012063
64635047471
64635047472
64635047473
64635047474
Answered

4

Comprehension:
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Question Type :

Question ID :

Option 11D :

Option 2 1D :

Option 3D :

Option 4 ID :

Status :

Chosen Option :

McQ
64635012061
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64635047464
64635047465
64635047466
Answered

1

Comprehension:
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Q95 = - weiad 1991 | 2011 T RieTs 9ad 70 @ U1 39 iy & vhy e e
H a1 36 wfewm it Frrge w27
1. wEm
A 0
3. ®H=
4 gwEwn
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
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Status :

Chosen Option :

McQ
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I F 0SS I J ‘Hea Uald SO W e W &1 i e ot wam o fE
T IR R -G A Wiea afadl & e 4 fr e = E 10-10 . . 2
R fafda ot = e fem o (o dE-uef e ou e e st e dm
foress St gt & Woeg o R ) T Ten-ufy e wEee, agw e g @ T
w i Hem o1 frdat e o1 5 38 nde o e & Hew i i s &1 faafien o wEm
Tl U T ST T § B S sia 54 7 auT 9 Sga ey s wita s wi
a5 ff g Hera-ualt GOHR) daa: fHega Sl & wny e 51T aeen edmE
fom A% Taw amfin it 9w fafee = o8 sfem 4 o9 @aen & oA mem 1 O1g e
#1 ot el et oft T HaR (oftw @, Ot W au g TR S 9ER w1 0 weegl
E g

SubQuestion No : 96

Q96 gt vz @MTER) S e s s frd 2 o
1. Al g
2. wES T
3. TS EH
4. fafrmmwites
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635012068
64635047487
64635047488
64635047489
64635047490
Answered

3
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i fam o sy =1 ofgn ot o W B oyR W e ¥ I g

AR (afers M« 3T 99) WA T 5 o win meerl w1 ot e o
T aUT B STl u Ued T adl HIEE N} e B geea aree I gga ol
oif | g7-TaR ST Uge WS 9 U U8 T HaN Souand e 4, Ty $T61 gY R afeadl &
Tk TaTE (@Y1 TR B HHF SIUARI B H15 Sara-l &) Ha- 5 (07 3 HuE o & Teha fag
ama i) i & v (- F weda 8 95 U &1 SR GREER 1 3R wH ade
ol et ot v el AT A gl @6 o o) wreet dreit 3 gg o @ oreft o ot Wi el
=1 geira e &1 o Wt oo SR At anefeee v € fafiren #) fafim dfere # am
3R ot % fim-firm ge-wes ¥ T ol @) Ceead! wefat sium wial = U gen ammn
fom el =off ey & ot QT o (frdten) 21 a1 i e 4 TR o H gl
Hera & A oma ot I19 @ 72t far W i ¥ oF o o od 9 & wWede sva de
W BRI T AW Wged fRd W @ ¥ vads w 4fte @) § ange € 1 Owim o F
femmws anf frders & fom foarm wmen am

o myiEE & & 5 o Ten Hen aaens St we U g o Ol Gy 598 U g9 § Ui
Tgd &t TEAT et W Twat 6 e 2 agt gl i T e wae et gg 219 1703 §
I F 0SS I J ‘Hea Uald SO W e W &1 i e ot wam o fE
T IR R -G A Wiea afadl & e 4 fr e = E 10-10 . . 2
R fafda ot = e fem o (o dE-uef e ou e e st e dm
foress St gt & Woeg o R ) T Ten-ufy e wEee, agw e g @ T
w i Hem o1 frdat e o1 5 38 nde o e & Hew i i s &1 faafien o wEm
Tl U T ST T § B S sia 54 7 auT 9 Sga ey s wita s wi
a5 ff g Hera-ualt GOHR) daa: fHega Sl & wny e 51T aeen edmE
fom A% Taw amfin it 9w fafee = o8 sfem 4 o9 @aen & oA mem 1 O1g e
#1 ot el et oft T HaR (oftw @, Ot W au g TR S 9ER w1 0 weegl
E g

SubQuestion No : 97
Q7 iferm.faven 1 et & e e e T a2

1. wRAgAH
2. d=
3. wig

4, THge I ST

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 64635012066
Option 1 ID : 64635047479
Option 2 ID : 64635047480
Option 3 ID : 64635047481
Option 4 ID : 64635047482

Status : Answered

Chosen Option : 1
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i fam o sy =1 ofgn ot o W B oyR W e ¥ I g

AR (afers M« 3T 99) WA T 5 o win meerl w1 ot e o
T aUT B STl u Ued T adl HIEE N} e B geea aree I gga ol
oif | g7-TaR ST Uge WS 9 U U8 T HaN Souand e 4, Ty $T61 gY R afeadl &
Tk TaTE (@Y1 TR B HHF SIUARI B H15 Sara-l &) Ha- 5 (07 3 HuE o & Teha fag
ama i) i & v (- F weda 8 95 U &1 SR GREER 1 3R wH ade
ol et ot v el AT A gl @6 o o) wreet dreit 3 gg o @ oreft o ot Wi el
=1 geira e &1 o Wt oo SR At anefeee v € fafiren #) fafim dfere # am
3R ot % fim-firm ge-wes ¥ T ol @) Ceead! wefat sium wial = U gen ammn
fom el =off ey & ot QT o (frdten) 21 a1 i e 4 TR o H gl
Hera & A oma ot I19 @ 72t far W i ¥ oF o o od 9 & wWede sva de
W BRI T AW Wged fRd W @ ¥ vads w 4fte @) § ange € 1 Owim o F
femmws anf frders & fom foarm wmen am

o myiEE & & 5 o Ten Hen aaens St we U g o Ol Gy 598 U g9 § Ui
Tgd &t TEAT et W Twat 6 e 2 agt gl i T e wae et gg 219 1703 §
I F 0SS I J ‘Hea Uald SO W e W &1 i e ot wam o fE
T IR R -G A Wiea afadl & e 4 fr e = E 10-10 . . 2
R fafda ot = e fem o (o dE-uef e ou e e st e dm
foress St gt & Woeg o R ) T Ten-ufy e wEee, agw e g @ T
w i Hem o1 frdat e o1 5 38 nde o e & Hew i i s &1 faafien o wEm
Tl U T ST T § B S sia 54 7 auT 9 Sga ey s wita s wi
a5 ff g Hera-ualt GOHR) daa: fHega Sl & wny e 51T aeen edmE
fom A% Taw amfin it 9w fafee = o8 sfem 4 o9 @aen & oA mem 1 O1g e
#1 ot el et oft T HaR (oftw @, Ot W au g TR S 9ER w1 0 weegl
E g

SubQuestion No : 98

Q98 tfers foren Rferdrome = &7
1. % veT & WiadE g Hoed gyl &1 guan
2 YT AU 92 W 99N SeNEnS e 5AN
3. - @ArE) St
4 TR
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
64635012069
64635047491
64635047492
64635047493
64635047494
Answered

2
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i fam o sy =1 ofgn ot o W B oyR W e ¥ I g

AR (afers M« 3T 99) WA T 5 o win meerl w1 ot e o
T aUT B STl u Ued T adl HIEE N} e B geea aree I gga ol
oif | g7-TaR ST Uge WS 9 U U8 T HaN Souand e 4, Ty $T61 gY R afeadl &
Tk TaTE (@Y1 TR B HHF SIUARI B H15 Sara-l &) Ha- 5 (07 3 HuE o & Teha fag
ama i) i & v (- F weda 8 95 U &1 SR GREER 1 3R wH ade
ol et ot v el AT A gl @6 o o) wreet dreit 3 gg o @ oreft o ot Wi el
=1 geira e &1 o Wt oo SR At anefeee v € fafiren #) fafim dfere # am
3R ot % fim-firm ge-wes ¥ T ol @) Ceead! wefat sium wial = U gen ammn
fom el =off ey & ot QT o (frdten) 21 a1 i e 4 TR o H gl
Hera & A oma ot I19 @ 72t far W i ¥ oF o o od 9 & wWede sva de
W BRI T AW Wged fRd W @ ¥ vads w 4fte @) § ange € 1 Owim o F
femmws anf frders & fom foarm wmen am

o myiEE & & 5 o Ten Hen aaens St we U g o Ol Gy 598 U g9 § Ui
Tgd &t TEAT et W Twat 6 e 2 agt gl i T e wae et gg 219 1703 §
I F 0SS I J ‘Hea Uald SO W e W &1 i e ot wam o fE
T IR R -G A Wiea afadl & e 4 fr e = E 10-10 . . 2
R fafda ot = e fem o (o dE-uef e ou e e st e dm
foress St gt & Woeg o R ) T Ten-ufy e wEee, agw e g @ T
w i Hem o1 frdat e o1 5 38 nde o e & Hew i i s &1 faafien o wEm
Tl U T ST T § B S sia 54 7 auT 9 Sga ey s wita s wi
a5 ff g Hera-ualt GOHR) daa: fHega Sl & wny e 51T aeen edmE
fom A% Taw amfin it 9w fafee = o8 sfem 4 o9 @aen & oA mem 1 O1g e
#1 ot el et oft T HaR (oftw @, Ot W au g TR S 9ER w1 0 weegl
E g

SubQuestion No : 99
Q9 & i A frwe v i o iftrralt @0 3 R &7

1. gl sEde
2. edfww
3. qimesa
4 ®4
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status
Chosen Option :

McaQ

64635012067
64635047483
64635047484
64635047485
64635047486

: Answered

4
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AR (afers M« 3T 99) WA T 5 o win meerl w1 ot e o
T aUT B STl u Ued T adl HIEE N} e B geea aree I gga ol
oif | g7-TaR ST Uge WS 9 U U8 T HaN Souand e 4, Ty $T61 gY R afeadl &
Tk TaTE (@Y1 TR B HHF SIUARI B H15 Sara-l &) Ha- 5 (07 3 HuE o & Teha fag
ama i) i & v (- F weda 8 95 U &1 SR GREER 1 3R wH ade
ol et ot v el AT A gl @6 o o) wreet dreit 3 gg o @ oreft o ot Wi el
=1 geira e &1 o Wt oo SR At anefeee v € fafiren #) fafim dfere # am
3R ot % fim-firm ge-wes ¥ T ol @) Ceead! wefat sium wial = U gen ammn
fom el =off ey & ot QT o (frdten) 21 a1 i e 4 TR o H gl
Hera & A oma ot I19 @ 72t far W i ¥ oF o o od 9 & wWede sva de
W BRI T AW Wged fRd W @ ¥ vads w 4fte @) § ange € 1 Owim o F
femmws anf frders & fom foarm wmen am

o myiEE & & 5 o Ten Hen aaens St we U g o Ol Gy 598 U g9 § Ui
Tgd &t TEAT et W Twat 6 e 2 agt gl i T e wae et gg 219 1703 §
I F 0SS I J ‘Hea Uald SO W e W &1 i e ot wam o fE
T IR R -G A Wiea afadl & e 4 fr e = E 10-10 . . 2
R fafda ot = e fem o (o dE-uef e ou e e st e dm
foress St gt & Woeg o R ) T Ten-ufy e wEee, agw e g @ T
w i Hem o1 frdat e o1 5 38 nde o e & Hew i i s &1 faafien o wEm
Tl U T ST T § B S sia 54 7 auT 9 Sga ey s wita s wi
a5 ff g Hera-ualt GOHR) daa: fHega Sl & wny e 51T aeen edmE
fom A% Taw amfin it 9w fafee = o8 sfem 4 o9 @aen & oA mem 1 O1g e
#1 ot el et oft T HaR (oftw @, Ot W au g TR S 9ER w1 0 weegl
E g

SubQuestion No : 100
Q100 3oy 3i st 3 w07 ST FarRy e a2

1. SR gl oy o e den

2. TG GGl B e wew e

3. wel gy ae Sy dem deen

4. T X T Siew o &% Sl dam v

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

McQ
64635012070
64635047495
64635047496
64635047497
64635047498
Answered

3
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